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Quiz#3
Name: ………………………….. 
--------------------------------------------------------------------------------

Q1: Derive relation schema for the following ER diagram:
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Data Modelling and Databases (DMDB), Spring Semester 2017, Exercise 2: Relational Model,
March 6/March 10, 2017 Legi-Nr:

Solution: Translating the entities |
Reader (ReaderNr, FamilyName, F

ds to the following relations:
name, City, Birthdate) (1)

Book (ISBN, Title, Author, NumPages, PubYear) 2)
Publisher (Pubname, Pubcity) ®3)
Category (Catname) (1)
Copy (ISBN, CopyNr, Shelf, Position) (5)

For the relationships we

ate these relations:
Borrows (ReaderNr, ISBN, CopyNr, ReturnDate) ~ (6)
Available

BN, CopyNr) ]

Contains (Catnarme, ContainedIn) (®)
InCat (ISBN, Catu: ()
Publishes (ISBN, Pubname) (10)

Finally, we will combine relations for binary relationships, if they have the same keys and
they are of type 1N, N:L, or L:L ( (7) — (5), (8) = (4), (10) = (2) ):

Reader (ReaderNr, FamilyName, Firstname, City, Birthdate)

Book (ISBN, Title, Author, NumPages, PubYear, Pubname)

(Pubname, Pubcity)
ContainedIn)

Copy (ISBN, CopyNr, Shelf, Position)

Borrows (R r. ISBN, CopyNr, ReturnDate)

InCat (ISBN, Catu:
Note: Weak relationships are often not explicitly shown as relations, because th
 when combined as shown above (e.g. relation (7) in this example).
=, not to forget attributes when using such shortents.
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